Events:

 A new improved technology for the production of minivans has become accessible to minivan producers, while a stock-market crash has decreased people’s wealth, and the price of sports utility vehicles has decreased. 

Question:

Using the three step approach to changes in equilibrium, explain both graphically and verbally what happens in the market for minivans? Discuss all the possible scenarios and in the end conclude by stating what happens to the equilibrium price and equilibrium quantity of minivans after the events above have taken place.

Step 1: 

What happens to D (increases or decreases)?

What happens to S (increases or decreases)?

Step 2: Demand curve shifts ____________.  Supply curve shifts __________.

Step 3: By comparing the initial equilibrium point with the new one, we find that 

equilibrium quantity of minivans _________________________

and equilibrium price ___________________________________

